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fR: 1 o, =0, FEHE() ERM = | AR |

2. BWBEMLS: +0- + -+, FIEFRIUNERM = | — P |
3. SHREBOT (es) T FE EEHH

e; =4068 2880 000

=2 x2x2x2x%x2x2x2 x%x2 X2 X3x3x5x5x5%x5x%x7
(FHHEI18EEH)

4. Jes = V4068 2880 000 ~132. 3---

5.132.3:6=22.05,132.3:7=18.8
6. es —(132.3 +6) =132.3 ~22.05 =110.25

Jes - (132.3+7) =132.3 -18.8 =113.5
7. RETERE

x, <132.3 | x, > 132.3
110.25 < x, < 113.5

1+ 0-1238 133 +2329 7646 8 — 1108 2816 000 +4068 2880 000
) —100 - 1000 0 +1228 1330 0 - 1101 6316 800 + 64 9920 000

1 +100 -1228 133 +1101 6316 8 - 6649 9200 + 3403 2960 000
—100 - 2000 0 +1208 1330 0 + 1065 0132 00

1 +200 -1208 133 — 1065 0132 - 1131 5124 00
—100 - 30000 +1178 1330 0

1 +300-1178 133 — 1284 6343 2

-100 - 4000 0
1 +400 -1138 133
—100

(1)

x 1009

1 +500 -1138 133 — 1284 6343 2 - 1131 5124 00 + 3403 2960 000
- 12- 6144 + 1358 3868 +1704 5676 00 +3403 2960 000

1 +512 - 1131 989 — 1420 4730 0 — 2836 0800 00 +0
Bl =, =100 +12 =112 (1) B— LR,

L, L
1+ 0-1238 133 +2329 7646 8 —1108 2816 000 +4068 2880 000
~-112 - 1254 4 +1372 6596 8 — 1071 9576 000 + 4068 2880 000

-112

1+112-1225 589 + 9571 0500 — 363240000+ O



Bl 2, =112 2R (1) F— TR AL,
AEBR . 4.75.1009, - 1200( B )
H 4+75+112 +1009 — 1200 =0 = a, = YR EE
- [4x75 x112 x1009 x ( -1200) ] =4068 2880 000 = e, = ¥R
Frid 4.75.112.,1009 , - 1200 £ HF2(1) MHEMR,
3. x° —6x" —-86x° +864x> —2507x +2310 =0 (1)
fB: 1. —as= -6 <0, HEHBRERM > | FARA |
2. BWEBEMS: + - - + - + HEHFBRUNERF > | -8 |
3. SMBEBIN es R I EEEH
es =2310 =2 x3 x5 x7 x11

4. Jes = /2310~4.7~5
5. B %, B9MH. BB SERUEEE
1- 6- 86+ 864-2507+2310 10
+10 = 160 + 740 + 1240 — 37470
1-16+ 74+ 124 -3747 +39780
+10 — 260 + 3340 32160
1-26 + 334 - 3216 +28413
+10 - 360 + 6940
1-36 + 69410156
+10 — 460
1-46 + 1154
+10
1-56 + 1154 — 10156 +28413 +39780 1
+ 1- 57+ 1211 -11367 +39780
1-57 +1211 - 11367 +39780 + 0

ikl x, = = (10 +1) = -11 BHRE(1) B—1ER,
KHEB/N: 2.3.5.7(8)
H2+34+5+7-11=17-11=6 B 17> | -11],
H: BH e BERES MREEEGBECH3, AR WEMIEZE2.3.5.7, -11,
4, x° -37x" +513%° —3275x* +9398x - 9240 =0 (1)
#R:1. —a;=-37<0
2. BMBEFS: + -+ - + - FIEHBELEIER
3. SEEBOR (es) R B R FBHR
—e; =-9240 =-2x2x2x3x5x%x7x11

4. e, = Y1 -92401 ~6.2~7
5. IBHTER: x, =7 W x, <7
6. B =, WfH, A5 EUMEITERE

1 —37 +513 —3275 + 9398 - 9240 -10
_y =10 +270 - 2430 +8450 - 9480

1-27+243 - 845 + 948 + 240
-10+170 — 730 + 1150
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